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A+B+C

o

10,935 9,686 979 21,600
i
37,184 35,615 1,569 1123 1,263 44217]
73 72 1 1 26 8
8 8 0 0 - -
17 4 13 13 15 - 15
37,253 35,670 1,583 1,137 44,225
T
|
il
1,237 1,056 180 658 10 6,858 N
3514 3,449 65 2,550 149 354 238
196 193 3 1 85 1,298 799 2
3,190 3152 38 37 1314 15,764 12,753 2
385 381 4 3 197 1,504 1,081
841 839 2 2 188 3353 2417 =
5 5 0 0 3 28 24
9 9 0 0 3 - -
30 29 1 1 - - -
378 356 22 22 35 214 - u
9,578 9,382 196 196 1,174 - - s
101 189 2 2 20 100 4
8,943 8943 0 0 832 - -
5278 5,067 211 211 675 - 12
3,683 29,473 17,328
)
J
51 46 5 5 - - -
1,100 1,009 91 91 - - -
96
1 13 5 - N 1,763 N 1,746
() 5 6 22 - - - - -
() 0 12 5 - - - - -
4 36 10 - - - - -
() 0 26 14 6 - - - -
0 3 1 - - - - -
() 11 126 1 - - - - -
) 2 607 6 - - - -
() 59 2,149 33 - - - -
97 - 1,763 - 1,746
18 19
A B B-A
2,662
2,009
5,554

10,225




18 19 18 19
A 5] b-A A =] b-A

6.67 5.26 141 1235 20.00 57.7
2231 17.35 4000 749

113 838 25 250 350 25
834 350.0 69

0.48 050 0.02 72
80.3 934 41 56
147

0.0
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